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s (Authors) (Books)
. Ji\}*almknhhmm (i) Prabandhakosh?
(B) Nayachandra (ii) l-lnmmirmuulmknvyn

© Rﬂ.iashckharu (iii) Prillwirujnvi_iilY"
(D) Chandrashekhara (iv)guq charit
Code - El\t
(1) Ax(i), B-Gii), C-Gii), D-GV)
(2 A<Gii), B-(iv), C-(iii), D-(i)
(3) A-(iii), B~(ii), C-(i), D-(iv)
(@) A-(iv), B=(i), C(iii), D-(ii)
(3) Question not attempted
2. Who was the President of the first session of
Jaipur Prajamandal?
(1) Jamnalal Bajaj’
(2) Heera Lal Shastri
(3) Karpoor Chand Patni
(4) Chiranji Lal Mishra
(5) Question not attempted

3. Which statements are true about the Bijolia

Movement?

(i) In 1903, Rao Krishna Singh imposed.
Chanwari tax in the Bijolia area.

(ii) Prithvi Singh put the burden of the amount
taken by Mewar as “Talwar Bandhai’ from
new Jagirdar on the subject.

(iii) In protest, the farmers did not plough in the
entire Jagir.

(iv) Prithvi Singh understood the mistake and
announced some concessions to farmers,

Select the correct answer -

(1) (i), (iii) and (iv)  (2) (i), (ii) and (iii)

(3) (i), (iii) and (iv) (4) (i) and (ii)

(5) Question not attempted
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(C) ITAGR ~—~" (i
(D) T’ Niv) GorTaRd
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(1) A-(i), B-(iii), C-(ii), D-(iv)
(2) A<(ii), B-(iv), C-(iii), D-(1)
(3) A-(iii), B-(ii), C-(i), D-(iv)

M A-(iv), B-(i), C-(iii), D-(ii)

(5) argaRa o<

2 SRR oIS @ WO SIfSIer @ Srde B

o
(1) SHATeTel FoITST
() TATE

: FR T dresl

(4) RS et s
(8) SrgaiRa we.

3-ﬁﬁ%mm$ﬁwﬁaﬁﬂﬁmw

&

() 1903 €. &, <@ oo g 7 fasiforar &= 4
T8 HR SR |

(i) gt Rig 4 Hare g1 T WFIRER ¥
TAIR ST’ B ®T H off TF BT BT AR
AT R ST feAm|

(iii) Y w@wy fFaml 7 9l arfR § 5
el el |

x(iv) el Rig 9 Torlt B wHEn SR R
@ BB RAAT I B 9N B |

HE SR BT G99 PIforg —

(1) @), (i) 3R Gv) k2T (i), (i) 3R (iid)

(@) (i), (i) MR (v) @) (i) i (i)

(5) 3ARE ue
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llowing statcments are true? 4 [?rr:ﬂ[:c‘ﬁ # ——ﬁ z
@ Rangmahal was excavated joint O S Ll Eﬁ'qﬁ i
V.N : jomntly by Ai) T 3 T w9 ¥ 1959 8,
A; + Mishra gapd Rajasthan State rd W
Chaeology pe ‘ ‘ oqT|
partment in 1959 AD, ¥ fdr .
. i YMHeel ITh—&sHI E'“ ‘
() Rangmang) 1s a Pre-Harappan (i) I S '
archaeological sitc in Northern Rajasth; o ¥ | R
sl g ajasthan, LRIk :
(i) Rangmaha] was excavaled by Swedish (iii) GHEd BT 9T ¥ ﬁjT ofT |
. Archaeo]ogist Hanna Rydh in 1952-53 AD, gl XIS 3 1952-53 % Y
(iv) Rangmahal culture is of Kushan period, (iv) STHEe Wit AT
Select the correct answer - F&) SR B gTT -
(M @) and (iv) (2) (iii) and (iv) () (i) 3R V) (2)-{iify SR (V)
(5’ (i) and (i) (4) (i) and (if) @ G alR Gl @) IR (i)
(5) Question not attempted (5) ﬁafﬁﬁ EES] .
5. Dayabai e o B e | @
~yabal and Sahjobai were disciples of which 5. qararé Sl HEaT
saint of Rajasthan? forsarg off?
() Saint Laldag (2) Saint Haridas (1) §q e &) :aa it
(3) Saint Charandag (4) Saint Jasnath Brad =Roe™ (4) | ST
(5) Question not attempted (5) IrgaRa U :
. g?
5. What are the main features of ‘Rammat’ folk 6. <eq @ R CREMACINECURT
(i) Only people of a particular community 2 T
participate in it. i) zud TRAT AR THHT B g qAmT
(i1) ‘Teriyas’ and ‘Singers’ plays major role in S < 2
(iii) The characters sitting on the stage gives Lii) _ e WS T Sod ¥ wE
their performance and then take their seats I ST W TR _ !
again. (iv) SH®! 99T 3R a0 V9 39 Us am
(iv)Its language and regional flavour keeps it Ry I O W= 2
connected to one particular region. e IR BT 99T PITT —
Select the correct answerz-) i i (M @), (i) AR (i) 2 (i1), (iii) 3R (iv)
i X
(D@, [Dand @) & Gl (60) and & @ (i) 3 (iii) @ () 31 i)
(3) (ii) and (i) #1l (fautiir) (8) IR e
(5) Question not attempted _ z
7. Where is the painting “Krishna with eight 7 €I ¥ “pwr Y ams MR v wof @ wy
Gopies depicted as an elephant” found ]:'I:_rll 4 R AR wal e 27
Shekhawati? ]._% (1) YR E3ch
(1) Poddar Haveli, Nawalgarh g (2) SRy sa*qﬁ‘ qH=<1Tg
(2) Kanodia Haveli, Mukundgarh (3) Tﬁ‘qqaa-[ i 3%
(3) Goenka Haveli, Fatehpur @ . PUER
(4) Ruia Haveli, Ramgarh 5) 3 E of, T
(5) Question not attempted TR ey
Pagﬂ 3 of 32
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“ Who was the President of the open session of
‘Marwar Lok Parishad’ held on 8" February,

942 AD?

- Jai Narayan Vyas
(2 Ranchhod Das Gattani

(3) Chaudhary Umaram

@) Swami Chain Das

(3) Question not attempted

Select the correct statements about Sringar
Chanwari Temple -

() Tts central part is covered with a circular J ain
dome.

(i) Tt was built by Bhandari Velaka/Veka, son of
Kumbha's treasurer.
(iii) The
(v)

Plan of this temple is circular.

It has four wings protruding from all four
sides.

Select the Correct answer -
(1) (ii) and (iii)

(2) (i), (ii) and (iii)
() G), Gii) ang Gv) @ (), (i) and (iv)
(5) Question not attempted
10. %ich of the following is not a stringed musical
Instrument?
(1) Kamayacha (2) Bhapang
(3) Jantar (4) Bankiya
) Question not attempted
M. Who among the following was the Chairman of
“Meena

Sudhar Samiti”

Comrnittee) established in
19449

() Banshidhar Sharma

(2) Rajendra Kumar

(3) Chhotulal Jharwal

(4) Mahdadev Ram Pabadi
(5) Question not attermpted

(Meena Reform
Neemkathana in

12. Which of the following ruler had an important

role in the Battle of Bahadurpur?
(1) Mirza Raja Jai Singh

(2) Maharana Raj Singh

(3) Maharaja Jaswant Singh

(4) Maharana Karan Singh

(5) Question not attempted

(ii)mﬁnﬁw%aﬁqw&%gawﬁ
BT/ BT ¥ FRAwET o |

(iii)gﬁﬁﬁwaﬁmmawﬁl
(iv)sﬂzﬁaﬁaﬁvﬁﬁwd'@ﬁaﬁ%gq%l
m@rwaﬂwaﬁﬁ‘m#

(1) (i) 3R (i) @ G, (ii) @i i)
®) @), Gi) = Gv) @ @), (ii) 3R (iv)
(5) srgifRa wee
10 ﬁwﬁf@ﬁﬁﬁﬁwagmuﬂqﬁ%?
ey (1) TR (2) 7y
ﬁ @) SR ) aifdar
2 0 S (5) Gﬂﬂﬁﬁﬁ g

) wERT W™ ygd

(8) g=Ra wwq
12-%ﬁﬁaﬁ%ﬁaﬂwaﬁwﬁﬁ

H wEaget qfier off?

() Bt <o o R

(2) 7ER™N 1 e

() WERIeT SHdET Rig

(4) FERTOT @R Rig

(5) IRy uee

00- @
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13. Elaichi and Kamlg were p

of paintings of Rajasthan?
(1) Alwar sub-style

(2) Nathdwarg sub-style
(3) Devgarh sub-style

(8) Kishangarh sub-style
(5) Question not attempted

14.
Match the following and select the correct
answer from the code given below -

ainters of which style

(Writer) (Writing)
(A) Kanha Vyas (i) Dwardeepika
(B) Natha (ii) Eklinga Mahatmya
(C) Govind (iii) Kirtistambh Prashasti

(D) Atri and Mahesh (iv) Vastumanjari
Code -
(1) A-(ii), B-(iv), C-(i), D-(iii)
(2) A-(ii), B~(iii), C-(iv), D-()
(3) A-(iii), B-(iv), C-(ii), D-(i)
(4) A-(i), B-(ii), C-(iii), D-(iv)
(5) Question not attempted
15. From where was the Lingodbhav idol, displayed
in Ajmer Museum obtained? |
(1) Osiyan (2) Harshnath
(3) Buchkala (4) Abhaneri
(5) Question not attempted
16. Which of the following statement about the Luni
river is false? o
(1) The eastern boundary of Luni river basin is
‘Kala Bhura Dungar’. _
(2) This river flows upto Rann of Kutch.
(3) Its water is sweet from its drigin to Balotra
town. :
(8) 1t flows over 5.6 percent of the total drainage
area of Rajasthan.
(5) Question not attempted
17. As pér Census 2011, which district of Rajasthan’

(1) Jaisalmer (2) Barmer
(3) Ganganagar (4) Alwar
(5) Question not attempted

oA

SR

13.%%} ?
(:)aﬁf‘ﬂ gdrel]
N el

(3)%@%

az\aA—(ii), B-(iv), C~(1), D-(iii)
(2) A-(iD), B-(iid), C—(i'\.!), D-(i)
(3) A-(ii), B-(iv), C-(ii), D-(i)
(4) A-(), B-(ii), C-(iii), D-(iv)

(5

15. aoTR S UEGE # gef¥a. felmema ’1% Pel |
(1) aferat (2) g
(5) sFaRd T

16 Tﬁﬂﬁiﬁﬁﬂﬂﬁﬁﬂﬁ#@ﬁﬁ?}fmw

I &7 . '

() e 7 AR @ gt A B [N
2 Tk

(2) 75 78 Pow P T a9 waIRd gl &

(3);qrmﬁwﬁmmwmﬁﬁ'ﬂ'“
| _

“’WW%@WW%SﬁW

17 S 2011 < ey, JTOTR A A &

j g?&ﬁm%ﬁmmwﬁwm-m

has sex-ratio less than 800 in urban areas? EF

g; REL (2) TSR
O

00- @
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18 Read the following facts carcfully about an
Agro-climatic Region of Rajasthan -

ion 18 30 to
(A) The average rainfall of the region 1§

33 1 (A) 5 w2 @ sl auf 30| 50 WA 21

18. YroRe @ T PRSIy wew @ W A
Prerfifae qeat @ Araurigds afed —

S0 cm. _ oil are found in A () ger wR A wre YR qon oM et a
(B) Red desert and Sicrozem § o 2
© t\l’]\:;:::‘;i::l;qmrd and Sesame arc major Rabi © ﬁ-%‘ ﬂigﬂ o ot 5 T e @
4 v K '1 W‘ l =
crops of this region- o . B ;
1dentify the Agm-clil‘natic Regton "fﬁ' STeTary o B TE= y
g @ 1 -A mi-c - A
- (5) argaiRa weA

(5) Question not attempted

18. Which of the following Agro
developed by RIICO?

Food Park is not

(1) Boranada, Jodhpur ((12)) IR, Gﬁﬂmﬂ;

(2) Kishangarh. Ajmer & ia“'“‘lm@ :

(3) Ranpur, Kota ROTR, | ;
(&) Udyog Vihar, Sriganganagar (4) ST ﬁ%‘ﬂ CIURIREN
(5) Question not attempted (5)_31:51{—%[ T |

20. Which of the following dre environmental

19. P # & P T age W, da A
R &l fpar Tar 22

20. roreerrs 4 frefere ¥ ¥ sraam / AR @

effocts of unsustainable mining in Rajasthan? & wafaRdr s e
(A) Air pollution (A)arg ST
(B) Loss of biodiversity (B) Sher~fRfaeret T Frel~
(C) Land degradation ! (©) 9 &or
ﬁ (D) Surface and ground water pollution (D) |l Qe 3 -Sel Uguol
g Code - ®© -
s (1) A,B,C,D (2 A,B,C (1 A,B,C,D A A,B,C
g (3) Only B and C 4 B,C,D (3) Baa B a1 C (4)B,C,D
§ (5) Question not attempted (5) argaiRa w ’
] 21. Which among the following factors affects  21- IO # I JEUN & RIFRIGROT BT DI
:}‘: localization of Sugar Industry in Rajasthan? BRE JIfAd B 87
g (A) Availability of sugarcanes in the nearby A e & smE-TE B AN H T W
/ areas of mills SEEEZE
i (B) Availability of transport facility (B) URass o fawm o Suerar
| (C) Availability of Lime and Sulphur (C) H&HR wd T DY USRI
(D) Cheap and skilled labour (D) | U HI 31
Code - ) T — )
(1) B,CandD (2 A,B,Cand D (1) B,C3iRD _/(irA,B C3iRD
(3) Only A and D (4) A,Band C (3) Fawt A3MRD @ A B‘Gﬁ‘x’ c
(5) Question not attempted (5) argaiRa A ’

00-¢
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22. As per Indian State of Forest Report - 2021 &
forest cover in Rajasthan was - P

(1) 18655 sq.km approximately
(2) 14655 sq.km approximately
(3) 16655 sq.km approximately
(4) 19655 sq.km approximately
(5) Question not attempted
23. Which of the following is not matched correctly?
(1) Luni Basin — Nehad
(2) Ghagghar Plains — Nali
(3) Shekhawati Region — Johad
(4) Nagaur Highlands — Dora Parvat
(5) Question not attempted

24. As per Census 2011, how many cities/urban

agglomeration have the population more than
5 lakh in Rajasthan?

M3 5
() 4 @) 6
(5) Question not attempted
25. Recently in which district of Rajasthan, Bauxite
occurrences have been reported by GSI?
(1) Udaipur (2) Kota
(3) Jhalawar (4) Banswara
(5) Question not attempted
26. [nitially the funding ratio of Desert Prone Area
Programme (DPAP) between the Govt. of India
and Govt. of Rajasthan respectively was -
(1) 100% by Govt. of India ¥

(2) 75:25

(3) 25:75

(4) 50:50 ﬁ'-la

(5) Question not attempted e
27. Which of the following soils has been

developed/formed from the Deccan trap in
Rajasthan?

(1) Red Loam (2) Black
(3) Grey Brown (4) Brown
(5) Question not attempted

00- &

s

Wzgll?ﬁmﬁﬂ,wﬁg_mﬁ
o T A TR/ TR g ey
o7
(13
(3) 4

(5) eIk T
Ao, gRT 8 8 F, 9 & few R
5 daarge B T R @ g 27
(1) SEAR (2) e
NOEISES (4) SrgareT
(5) SFgaiRT T
26. gy wTe & i (S1Agd) # g |
ARG WRER AT SR WRER F I qiwor
3TUTT THHLT: o — : |
(1) 3@ wfierg MRT SRR gRT
A2) 75:25 _ ' =
() 25:75
(4) 50:50

®) e et

27. ISR ¥ fyefReg § @ @ g9 L
89 R/ e o 87
) <t iy _A2) TR

(4)

24.

()5
4 6

25,

w
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icy rate

jtere
28. According to the Census 2011, the I i Yo

i i 3 oup 0
of youth in Rajasthan in the age grovpP

28. 51| o) ST @ AN, R H 15-24
atf & oy aif @ AN B AR T E —

yedis.- : (1) 88.89 (2) 81.73
2) 81.7- -
gi} 3233 :4: 2‘; 46 2441 3) 96.54 (4) 79.46
g ) naed (5) raRka e
(5) Question not attempted ) ) i ‘ 5 5
29- The unemployment allowance £1VeR N - RTORepE H gErdAl a1 e arorn 2024

Mukhyamantri Yuva Sambal Yojana 20:.24 "
Rajasthan to male and female respectively 15 =
(1) 4500 and 5000 per year
(2) 4500 and 5000 per month
(3) 4000 and 4500 per month
(4) 4000 and 4500 per year
(5) Question not attempted
- Which among the following (Solar Power Plant
— District) is not correctly matched?
(1) Agoria— Barmer  (2) Dhuni — Sikar
(3) Mokala - Jaisalmer (4) Gorir - Jhunjhunu
(5) Question not attempted
Consider the following statements about
Amnesty Scheme 2024 introduced by the
Finance Department of Rajasthan —
(i) It addresses outstanding tax demands and
disputed amounts.
(i) It aims to provide subsidies to small
entrepreneurs.
Select the correct option among the following -
(1) Both statements (i) and (i) are true.
(2) Both statements (i) and (ii) are fajge,
(3) Only statement (i) is true,
(4) Only statement (ii) is true,
(5) Question not attempted
Who among the following is he Director of the
film *Sunflowers were the Firg Oneg
which has won the ‘La Cinef Awarg’
Cannes Film Festival?
(1) Maisam Ali
(3) Chidananda Naik

31.

32.

to Know’
at the 77t

(2 Paya] Kapa dia

(4) Santogp, Sivag

a=rfa qoy qon Afgdl d¥ISrT AT A

3 _

(1) 4500 afik 5000 wfcrad

(2) 4500 3k 5000 ufcrHTE

S3r 4000 3R 4500 ufcrg

(4) 4000 3R 4500 frad

(5) ergeiRa oe

Fr=fefaa F & s (@R Gl waa—foren)

e gafera 8t 87

(1) sPifRar — areiR 2 Y — o

(3) Hiperm — SATR- (4) TR — =

(5) ergaRa v

W%ﬁﬁﬁwmgﬁaﬁq@@ﬂ

W 2024 % AR F PrefiRed soei w RER

BINTY —

() F& 911 B AN SR fafa Rl @
THET SR 8 |

(ii)'mmﬂgﬂ'ﬂﬁﬁiﬁagmqm
BT B |

ﬁw%maﬁﬁwﬁﬁmmamwﬁ

3 e () T (i) v @

(2) T B (i) @& (i) arvrey ¥

(3) Bad BUF (i) Heg |

(4) DI FoAT (i) ey )

(5) 3aRa ye

Ww%“’f‘ﬁf’rﬁwﬁmﬁ?ﬁm
e 7RV ¥ o R qea iy &

(1) #99 archy (@) wrrer e .

30.

31.

32:

w

(5) Question not attempted (5) aﬁﬁﬁa eq
00-® \/\
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33. Who . . Nk

Cabii?c:mSnt.lgbt-lgoizill':i\::;gt;ir':hl-n memberof the 33 mﬂdﬁ 17 Y fﬁ: pul Rty
o . stituted to revie »;zrﬂ’ﬁ’“ & aer ey %g

the administrative requirement of newly f, by rgﬂﬂ’/‘ﬂ Gq-q:[fil‘f?f DT Fifesg & aw

17 districts  and  qlyece divisions h:m:;:d 3.HZ q\fﬁﬂﬂ T B

notification  of the Revenue Dcvanmcn]:: 5 - 7

Rajasthan? , e qie grad

(1) Suresh Singh Rawat (1) ‘\'j)‘m gt

(2) Hemant Meena 2 A g

(3) Jogaram Patel (3 AT RiE SEUS]

(4) Rajyavardhan Singh Rathore (4) Mﬂﬂ

(5) Question not attempted (5) Hﬂﬁﬁﬁ @ W ngt‘ﬁmmé .)

34. According to "SIPRI Report 2024 on Global ~ 34. ‘47 © o oIk, 2023 ¥ ARG B 3oy
Military Spending’, India was at which place in e 202
2023? o (2) =y
(1) Third (2) Fourth (1) A (4) gier
(3) Sixth (4) Fifth 3) 99
(5) Question not attempted . :;ﬁq — & fore <oremT § S

35. In which of the following month State Water  35- o
;ncsources Information System Dashboard has | ‘\‘f‘m yomrit S o I H uw
been launched in Rajasthan to make better water o T 27
management? _ (1) i, 2024 - (2 58, 2024
(1) March, 2024 (2) Ma3f, 2024 . mqa‘ﬁ 2024 @) s 2004
(3) February, 2024 (4) April, 2024 ( ; e 7
(5) Question not attempted 5 A

36. Who amongst the following has been appointed 36. Yror Pt TF _ (%% &
as the Convenor of the High Level Committee aiafq Harfera 303 AETfdenadl B wHEn &g
constituted to review 303 colleges operating e 9ea wg AfAfa B T AfaRaa
under Rajasthan College Education- Society 3 ﬁg'clﬁ frar T &7
E“R)a—;riis;lir Manoj Dixit (1) SR AT S
(2) Professor Kailash Chand Sodani | iR S A= NS

e (3) TR diud. =Ry
(3) Professor B.L. Choudhary 12‘5
(4) Professor Shobha Ram Sharma S (@) AeRR e X et
(5) Question not attempted () g e )

37. Which of the following are the names of the ‘Al’ 37. 7, 20243 TRevH e a9 &I a‘Fﬂ fa’;
(Artificial [ntelligencé) "Anchors launched by N Tas (enfEfpre g’%ﬁ-\'ﬁ’ﬂ) ’;’ﬂ
‘Doordarshan Kisan Channel’ in May, 20247 ¥ ﬁ-’ﬂ*{fﬁf@ﬁ ¥y Py 87
(1) Rani and Krishi (2) Bhoomika and Raja () I o Py @) T gd Xl
(3) Farmer and Nandini (4) Krish and Bhoomi @) TRk Sifey (4) P T afA
(5) Question not attempted ©) IRy S

00 - 'S Page 9 of 32
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_ rpC at the
" Which rank is globally sccured " pment) Best
ATD (Association for Talent pevel
Awards, USA in May, 20247
(M Fourth (2) First
(3) Thirg ) SCC""d

5 i X
(5) Question not attempted vinner of the

3% Who among the following is th 22024' from
‘Goldman  Environmental PriZC
India?

! chta
(1) Medha Patkar (2) Mahes! l‘;ingh
(3) Alok Shukla (4) Rajend?
(5) Question not attempted 024-25 of

40. According to modified budget 2{ made for
Rajasthan, the Provision of a'Tlounj'la Utthan
‘Dr. Shyama Prasad Mukherje¢ !

Yojna’ is -
(1) T 500 crore (2) T 100 crore
(3) 700 crore (4) T 300 crore

(5) Question not attempted
e Ile and T are two unbiased estimators of 6 and

V(T1) and V(T>) are their variances, then T is
said to be more efficient than Tz, when -
M Lt V(Ty)=0 @ v(T)>V(T)

n—oo
@) V(T < V(1)
(5) Question.not attempted

(4) None of the above

42. Kurtosis is a measure of -
(1) Dispersion of curve (2) Quartiles .
B»Peakness of curve () Symmetry of curve
(5) Question not attempted

43. From the following ANOVA table of a Latin
square design, the sum of square dye (o columns
is -

Source of
variation
Columns -
Rows 4.20

Treatments -

Errors

Total

(1) 10.30
(3) 8.20 (4) 12.15 Y
(5) Question not attempted

Sum of
squares

Degrees of
freedom

Mean sum

39.65

00- @

B 2004 F TN (TaIfiger T BR e
Sqarife) v AASY, THY ¥ AN
INas war ur AT e siRkie fhar 87

(1) wrggef (2) gorr
(3) el (4) fe<ira
(5) srgaRa ue

3. fysrifeg A ¥ YR A MesHA  TAEIRATE
UTgw—-2024" 1 RASKIT BT 87

(1) Je11 qreH (2) weer AT
(3)3ﬂ3ﬂﬂ5?13'3ﬂ (@) o g
() srgaRa gz

0. oo @ uRafdd daoie 2024-25 B IWR,
. wE g gEe frem S Ao

&q forae geRIRr &1 graeTe far T 87
(1) 500 #3rs ¥ () 100 B8 T
(3) 700 3rs T (4) 300 s T

(5) srgaRa wed
N. 3R T,99 Ty, 0 B T sFRFT amdard & aen
V(T) 3R V(T>) 87 ToRoT & o Ty, T &
3MeH a1 8N, oig — '
(1) Lt V(T) =0

A V(T < V(Ty)
(5) ergaRa wes

2. o o % & frer e 87
M ah & woRT BT (2) TqRBRiT B

(2) V(Ty) > V(T,)
@) SR ¥ 9 P2 N
qﬁ :

ST B SR BT (4) 9% B GHATAT BT
) IFART g ' :
43 ANOVA diferdr § ve difes o
AT & (R B a1ty =
VAT DA | T ILA | W o | 3 o a7
L. I WY Y- I B -
TURRE pem, vy - o 065
Tt @ 3965 -9, Vo=
(1) 10.30 (2) 5.95 E N 54)
(3) 8.20 @) 12.15 o
®(5) srgeRa yem @
: . 31 SXY
Page 100£32 w3y &4 2 0,325 eazs
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44. The Agricultural Census in India is done in 44, st § P10 ?ﬂr—lTrﬂFﬂ P A R URAP —

every - 1 a_é, ﬁ- (2) 1 Elﬁ ﬁ
(1) 2 years (2) 1 year (M2 4 9 AT 5 3
(3) 10 years (4) 5 years (3) 10

(5) Question not attempted (5) argaRd g

45. A null hypothesis is defined as - :
() It is negative hypothesis under test for (1) v AR <6 Fome 8 YR S

possible rejection

' fpat 2
(2) A negative hypothesis ﬁTﬁTﬁﬁ gRaeadl
(3) Hypothesis tested for possible acceptance (2) goer R g ieR B
. gReped T
(4) Hypothesis under test
(5) Question not attempted V(ﬁfﬂﬁ“f & Bg ARSI
| (5) argeiRa ¥ .

46. In an RBD having 5 treatments and 4 blocks with 4. T H@W Eusdh feerr  forad
one observation is missing and following 5 IqER 3} 4 WugHh] H TP TeTor o< T 3R
information is given - e P TS ¥ —

Total number of known observations Wt 1 fou 7T Yeguil BT ART =40

. corresponding to missing treatment = 40 g« S #1 2T 7T Neqoif BT AR
Total number of known observations of the I STER & EoSd _
block having missing treatment = 50 =50 . §X Y
Total of all known observations = 250 ?T‘iﬂ?;ﬁ'ﬁ' ALY ﬁ&:f"g &1 AN =250
The value of missing observation is - I, UET0T BT AT ' — [acia .32
(1) 125 2 10 ‘ 125 @ 10 gm-*‘*"{ﬁ»\)-
(3) 20 @ 15 ' i 3) 20 @ 15 @’\)w— AYO
() Question not attempted : (5) ergaiRe WA % go

47. For a symmetric distribution - A7 iR §eT @ o — - -
M p>0 @ p=0 M p2>0 @) p> =0 Sz
B pua=0 @ ;>0 w3 =0 @ pus>0 2
(5) Question not attempted ' (5) IR U '

48. The average wages of a community in the base ~ 48. 3R I¢ 2011 ¥ U HHER &1 Arad HogX!
year 2011 were T 4000 which became ¥7200in  4000% off Sy 2015 # 9gPx 7208% & 71 | A
2015. If the price index in 2015 was 300, then 2015 $-T qadie 300 21, df 2015 99 &I
the real wage index in 2015 will be - . CIESIEE LBID BT —

(1) 56.5 (2) 62.5 : ; (1) 56.5 (2625 Jev= -%;—;J_'“c"
(3) 60.0 . L L8750 o -(3) 60.0 (4) 75.0 rn
(5) Question not attempted —— — - " (8) g o =
49. In the usual notations, R? ,3 is equal to -E ' 49. JH HadreR § R%,, =1 9 | 8 —
(1) l%z + l'%g— T12r13T23 " v (1) r%z + F%S_ I12l13T23 ' “a
(1-2r3;) , (2—21‘%3) 2007 %’f 49
iz +ris—2r1p3 oy M2 ¥ Ti3—2 Ty 1 _
@ am) @ G % Ei
2 o + g [
o B o AEEESE 2 g
4) rjz + ri3—2 123 (4) ri2 +r3i-2 1,15, @ ﬁ, X
(1-r3s) (1-r3s)
(5) Question not attempted (5) ariRe wew _ |

00- @ ' page 11 of 32



50. et Xy, X

Xy be (N>p)

observations from Normal Distribution N, 2)

where ¥ is matrix of p. P is different
a sl of MLE of M, M2y

B, B2,

T g Kp is

characteristic_toots,
A and
B® are roots Ki > K Seoeees
obtained from.
M|z -KiI'|=0 @ |z - Ki| =0

(@3 £ —Ki| =0 @ (g —Ki| =0
(5) Question not attempted '
51. Which of the non-parametr
testing the randomness of a given samp

(1) Run test (2) Sign test
(3) Wilcoxon test (4) Median test

(5) Question not attempted

52. Which of the following methods is used to
measure the irregular component of a tme
series?

(1) Ratio to Moving Average Method
(2) Method of Least Squares

(3) Variate Difference Method

(4) Simple Average Method

(5) Question not attempted

53. Given the sum of the products of prices and
quantities for the current year 1 and base year 0
for five items as -
¥ Podo = 782, X poq: = 1008,

X P19qo = 1084, Y p1q; = 1329
On the basis of these data the value of Fisher’s

Price Index will be -
(1) 135.19 “ (2) 132.45
(3) 130.60 (4) 138.70
(5) Question not attempted
54. T Y denotes total production of selected crops in
unit area,
Yn denotes total production of .same related
crops at National level,
T denotes total cropped area of the unit,
Tn denotes total cropped area at National scale,
then National Agricultural Productivity Index
(PI) is given by - '
(1) PI=TTn/YYn (2) PI=TYn+YTn
(3 PI=YYn+TTn (4 Pl=YTn-+YnT
(5) Question not attempted

srsssransabssnEann

c test is used for
le? .

50. T E‘»ﬁﬁm Xi, X2, ceene e, XN (NS>P) Doy
de N(W, )9 B, 981 3, p &1 Seaq

%Ipﬁfﬁ‘wmﬁit,kz, ......................... ;

2 @ BY: (I p— R R V1D
WK|>%K2> .................... > Ky @Y WISt fbap
T gl |

@ |z —KI| =0
@ |£-ki| =0

51 ﬁﬁmﬁ?—w e

wﬁﬁgﬁqﬁﬂ’f?ﬁmﬁﬂmmm
FaelT 87

.V(?;-\rqqﬂgfﬂ (2) forg adteor
(mﬁmﬁmaﬂMW () Tt Ty
HERLSRESE

52. g HICl & aifaffd ged & 99 & forg
ﬁﬁﬁﬁﬁﬂﬁﬁﬂﬁﬂﬂmm%’e
(1)aamwa§qmﬁr®r
(2):q3aﬂa1fﬁgfﬁ

A3 TR IR
() |rerRoT e fafer §
(5) araIRd W=

j_?-__,anma&oawaﬁaﬁf 13 forg 5 avgail &
Wﬁﬂﬂﬁgﬂﬁaﬂa’mﬁﬁm@x

T R - _ 8y 134
#2% Spodo = 782, T pods = 1008, T tas}
< EP% 13?)_34, ZP1Q1§$§29 ’
Bl R TR B qed AP
BT A BRI — 3?91—’1;!_3}1-
(1) 135.19 (2) 13245 eSO
(3) 130.60 (@) 138.70 | a3
(5) argeRa e x>
Gy

I T &R 0 SHL IR Bdl @ Bl
SN DI fA0iid Bl €,
gﬂ——ama%@mw_ﬁlﬁﬁﬂﬂm

Tn T WR UR G BT 8% BT R
@ 8, A AT P SIS Dl (PD I
ST B —

(M) PI=TTn/YYn

(5) srgaRa we=

_54. 7R THia_aemeaH Fafid :
2

(2) PI=TYn+ YTn
(4) PI=YTn + YnT

00 - &
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55. The coefficient of correlation between X and y
is 0.0. Their covariance is 4.8. The variance of X
is 9, then S.D. of Y s -

48 0.6
(1)‘“-0( (2] ox4.0
0.6
( ) 3x0.6 (@ 3Ix4.8

(5) Question not attempted

- Let Xi, Xz be two independent Poisson variateg
with parameters A; and A respectively, then the
conditional distribution of Xi will be, when
(X1 + X2) has already decreased -
(1) Binomial distribution
(2) Negative binomial distribution
(3) Geometric distribution
(4) Poisson distribution
(5) Question not attempted

For two events A and B, if P(A) =2,

P(B)

(1) mutually exclusive and independent.

(2) mutually exclusive but not independent.

(3) not mutually exclusive and not independent.
(4) independent but not mutually exclusive.

(5) Question not attempted

- The annual trend with 1981 as origin for X units

3 1
8 and P(ANB) = Z,thenAandBare -

bs 50 o~ \hL
N R e
1 WEEd oriE 6 2
& | ST
’ fr(r*:qrjmmﬁix?ﬂwaaavm
B =
_f: TS 945 e X
gx (.6 (4) 0.6
(3)_15'_3 3%4.8
3x0.
(5) argaiRel T

i x,aexrlz 2) urae B AT X TAT X, &Y Fer=y
s g & a9 X @1 WU de g, e

(Xg+Xz)ﬁaﬁq€W%_ -

¢

57. @ gemit A 9 B @ ford, Ak P(A) =3,

p(B)—-ﬁeleP(AnB)—— T9 ATRTB — R n\’*‘"
(1)Weauavﬁawwm€r§| > Aﬂ
() TR el ¥ AT T T E ;
ﬁwmﬂﬁﬁﬁmmﬂﬁﬂﬁﬁl M
(4) xaa=1 § AftheT TRER gaSlt el € | ;ﬁa"iw
(5) srgaRa we q_ﬂ

56. IgslaﬁMW@qﬁaﬁxm‘é?ﬁWw”
W@ Y T W A @ R afis swR £

production per year and annual demand Y is - ; s ' T8
_ THIDRT & — 23— WS 0 2
SRR Y=1488+72X X esl )
The quarterly trend equation will be - s forg Juiire Su=fa afieor R — -Fb_:“f
MY=154+18X (@ Y=124+015X M Y=154+18X @Y=124+015X _3°
(3 Y=372+015X @ Y=372+02X Y=372+015X @ Y=372+02X 4
(5) Question not attempted (8) argeiRa we 5? 35,
t
. 4 cards are drawn randomly from a well-shuffled 5% T& el arE A MA@ 52 9w & U a”?f Pt
pack of 52 cards. What is the probability that all TES! H AT mﬁi‘%@wﬁ qﬁ@f Frepret T | ] :‘_‘
m T NE
cards are black or red? , ERJT j"—‘—‘——*‘a;a'
4 } EBFT? j
(25 gg ) ol 1] 26 26 fq'
e - " o RRRIUTE): @t ¥
2(%) 2(%4) : 238 (& |§
@25 w7 o)) N
i (5) ERE|
(5) Question not attempted ol i aﬁﬁﬁ’ﬁ . /'”,? f?_L (g‘z( v (Q
page 130£32 S i
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0. 1 X, Y and Z are three random variables, then -
() Cov (X +Y,7) = Cov (X, 2)+Cov (Y, Z)
0B Cov (X +Y,2)=Cov (X, Y. 2)
3) Cov (X +Y,Z)=Cov(X,Z,YZ)
(4) Cov(X+Y,Z)=0
(5) Question not attempted
61. Let us consider a population T = (Yh--‘---.-----’YN)
divided into two groups, onc containing an
attribute A and others do not. Further, let Ni :E
the number of population units containing the

i then under Simple :
rbue. o Scheme the

| OV _
. "7 Sampling  With Replacemet n
/ vaﬁan;% c__g_e of an unbiased estimator M

is -

where,Q=1-P and n is size of the sample.

61.

60. 7fy X, Y T Z T IGREE =X &, qa.—

_/(’ffCOV (X + Y! Z) = COV (X, Z) + CUV (Y’ Z)
(@) Cov (X +Y,2)=Cov (X, Y, Z)
(3) Cov (X + Y, Z2) =Cov (X, Z,YZ)

@) Cov (X + Y, Z)=0

(5) TRl
At T2 (Yt YN) TP T, TR 07 A

zﬁwmﬂmﬁﬁﬁﬂﬁﬁmwﬁw”
ﬁqWA%aﬁ?Wﬁjﬁfim_aﬂN,
corgal A U AN E T W AGRED
meﬁmwﬁ
ST BT BT TR & —
aﬁ,Q:I—P,ﬁmnuﬁﬁmmél

N - .. _PQ 2 (¥N-1)PQ
“)-% {2) (n 1) PQ ﬂ/’j- (1) (I'l-l) ( ) (ﬂ )
=) b M L Tipg (4) P2
@(:- H) PQ @ @ (H - E) n
n
(5) Question not attempted (5) srgiRa U=
62. What is the share of Rajasthan in total livestock 62 MOET ~ 2012 & ATAR AR & A
of the country as per the Livestock Census — ;’.,'.E LRICE| 3 <ot T ey foher g7
20127 . rls (1) 20.27% ) 10.27%
(3) 15.27% - (8) 11.26% - '
> _~—(5) Question not attempted (5) ST 7
"I@For a population of size N and of sample sizen, =~ 63- N 3TeR &I & HHfte g n AMHR @ yaey &
: under Simple Random Sampling (witho forg, w=er AgRoe ufasel wfoems [y 4
: - e | N
_g replacement, the <Unbiased estimator »f ST . b A s i = JNT
9:' . - g . _
i population total T(= XN, y;) is - ool T(= XN, y:) o1 SFMAFG Sdeid & —
§ v:herf, ¥ denotes the sarP_p_lg_n_l__e%. O Gﬁ@ I
(1) ny @t= "y ,S o (1) ny @t= Yy
= ===l = l&i=1¥i)
| (v-n) G G Ly =
' (5) Question not attempted .’:ﬂ A (5) IgaRd wed
64. Let ther. v. of X have the distribution - " e, gfe Argfesd TR X &1 §e4 39 UPR & —
PX=0)=P(X=2)=p, o \ QL PX=0)=P(X=2)=p;
. T 1
PX=1)=1-2p,for0Sp=<3s p |vp g P(X=1)=1__2p,05pg%a§ﬁq§;
for what p, the Var(X) is i ?
1r w-azp e Var(X) is maxtn?m 1p 1o al p ?f'?zﬁrﬂ“r @ for Var(X) SeEdd_gmm?
Mp=3 @p=g L .Twg Op=3 (@p =7
1 _1 i 1
(3)P'—3. (‘UP-—Z s | (3)p=§ M=%
(5) Question not attem[ited ay rere A 7{_31-[5) IART weH
00 - ’ 4@ Page 14 of 32 d =




65. Let p be the probability that a coin falls head in
a single toss. In order to test a Ho: p = 1/2 vg
Hi @ p = 3/4 a coin is tossed 5 times and Hy js
rejected if more than 3 heads are obtained, ther

obtain the power of the test -

79
()= (2)
83 -
(3) @
(5) Question not attempted
66. The full form of CSO is -

(1) Central Statistical Office

(2) Central Statistical Organisation .
(3) Central Sampling Office

(4) Central Sample Organisation

(3) Question not attempted

%)
wge

67. If X and Y are independent Poisson variates with

mean A1 and A respectively, then find the

(4) o-(a+12)
(5) Question not attempted

68. If X has a chi-square distribution with n d.f., find
the probability density function of 3.

(1) gamma (% n) - (2) gamma (n)

probability of X = Y. L o a! |
1) e— Q1+ 2z) Mdz v ' —(Ay+Ag) MRz ~7 |
P r m{f\ z;(’ﬁ)e o - (A1A2)" k), ’-:, J: |
(2) e~ Pat22) Z:?:o%:_%) é‘:‘/*‘ Jzﬁlalﬂz) e DT:'!-)ZZ_ e | ‘l%q* fJ |
. Y )
() (A e™21) (A6 722 2 i)t @) (Are™ —A2 <ol
(Ae7™1)(Aze™2) e % (Me™)(aze™2) ¢ [

A
ss.qﬁaﬂ::?p? Ho: p = 1/2 f%g b, P=3/4
T e T & 50 79 g
nm;:;g o o T T A g
e @5 .
2 81\ |
(3)-151 i : "'@‘*Qgé !
(5)123 s S P j
i el & — et
66. cSO 1™ 2 praterT L
ke ; o 9’/§
- (mﬁqmﬁéﬂﬂﬁw q (¥ N
3) et IR PRI a2 Q74
et TS 2TES T U |
(@) DT i Utk % |
(5) '-
N W |

57_ﬁxaﬁqywﬁamaﬁm§,ﬁ1ﬁaﬂmw% |
e M AR N E W X =Y O oiilicer g }

(4) e_otl"‘ 7‘-i!)

(5) el et
68. IfY X, nvara=a HIfe & Ay FE-T de B,

x -
ar > B WRSaT T Wl 9d Diig |

A (1)

(2) gamma (n)

®) gamma (n) kY gamm G ") ) gamma (o) (4) gamma G “) ]
(5) Question not attempted (5) 3Ry o ‘
69. If X is a normally distributed random variable 69. R=1 3o 52 2 3 g afe X 1@ |qHE
with p = 1 and ¢® = 2, then the asymptotic qfeq TSRes w1 & o Iw yfredd
distribution of sample median for n = 20 is - W
@N(1, = @ N(1, = (MN(1 L A
( 10) ( 10) (1‘ 10) (2 N(L '1'6) |
@ N(1, ) @ N(1, &) @ N(1, ) @ N D) o i
2 ' 20 |
(5) Question not attempted , (5) - ¢ :"Q':c':’ :
Page 15 of 32 ' ’.
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72.

73.

74.

75.

70.

71.

Which of the following is one dimensional
diagram?

(1) Cylinder (2) Bar Diagram

(3) Circle Diagram (4) Pic — Chart

(5) Question not attempled

Which distribution is used 1o test cquality among
more  than (wo independent population’s.
vanance-covariance matrices?

() Multivariate A Criterion

(2) Hotelling T? Distribution

(3) Multivariate Normal Distribution

(8) Wishart Distribution

(5) Question not attempted e

For a random sample of size n in SRSWR, the
statistic s? = n—il-z:{;l(xi — 2)2 is -

(1) Unbiased and inconsistent estimator of 62
(2) Unbiased and-consistent estimator of ¢

(3) Biased and consistent estimator of 2

(8) Biased and inconsistent estimator of ¢*

(5) Question not attempted

Who gave the method of moments in Estimation
Theory?_ "
(17 Galton (2) Fisher

(3) Neyman (4) Karl Pearson
(5) Question not attempted
In.a 23 confounded factorial experiment the key

block is - :
(1), (ab), (ac), (bc)

then the confounded interaction will be -

(1) BC (2) AC
(3) AB (4) ABC

(5) Question not attempted

Suppose X and Y are zero-mean jointly normally
distributed random  variables guch that

ot =4 ob= < and EX, V) = 2
If (Z=2X~— 3Y), then what is (he Pfﬂﬁability
density function of Z7

70.

Mg e

7.

e &  Pyar RF 6 Sman 87
(1) g+ (2) IR form
(4) gg—=me

(5) or=iRa W

2 i @ds T TERO—EvaR Al
& 7 @) gaEa @ wderr @ forg T A @
P desT TG BT?

(1) TgeR A IR

(2) greferT T?dc

3T dgeR s ge

72.

(4) faene de
(5) SrgiRd T _
SRSWR ¥, T n AU & Agfees afed & o<
TiferaT —
s2=—Jl,(—%)" 8-
(1) o* T SFMAT TG I 3MMhAD
62T NG U4 FId 3ATdheld .
(3) o% T M1 Td T 3MbhoTh
(8) o2 T T Td I AT

*(5) Srg<iRa u

73.

74.

75.

3riher Rigia # meet fafr fem < off?
(1) TeeA (2) fpIR
(3) “gHe

(4) el =i
(5) SrxIRa U ‘ -
v 2° i SgeueEl W § g @vew

3
(1), (ab), (ac), (be)

o 9 smafhar grf —

(1) BC (2 AC

(3) AB ABC

(5) areRa e

T X qY o B owwr vy

W dfen wefen W ogw ver ¥ fy

ck=40f=2 T BX, Y) =2 & uR

(Z=2X = 3V) &), @ Z &1 Rl oo o
T BI?

(1)-—1—81'5& (2)
= e
(3)—1——e_m (4 1 =X
Vian ) —=ee

(5) TR yomy

O @)L 2
M 7= - (4}\,;—2;;& !
(3)%6 16 = ﬂl(-x' \)
w 2
I Toa
00-® e
9 [
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* The mode of F(v), vy) distribution is -

()(\, +2) (vr ) vy > 2

V2 (Vl+ 1)
@E. Dy >

()("2‘*‘1) (vi=2)
vy +2)°

V2 (vy-2)

S ey S i

(5) Question not attempted

:\-’1)2

>2

- If datais of qu_gl_ig_agi_ve in nature, then only which
coefficient can be calculated?
(1) Karl Pearson Correlation Coefficient
(2) Partial Correlation Coefficient
(3) Circular Correlation Coefficient
(4) Spearman Correlation Coefficient
(5) Question not attempted i
- Correlogram is an important tool which
provides -
(1) The moving average of random elements
(2) Nature of the internal structure of time series
(3) Seasonal variations of time series '
(4) Measurement of cyclic variations
(5) Question not attempted

- The salary of a person in the base year is ¥ 20000
per annum and ¥ 50000 in the current year. The
CPI is 325, then the allowance requn'cd to

maintain the same standard of living is -

(1) 15000 (2) 12500
(3) X 14000 (4) T 12000
(5) Question not attempted
- Which multivariate distribution is used for
comparing the mean vectors of two popMns
when common variance—covariance matrix X is
same? =R
(1) Mahalanobis D?
(2) Wishart Distribution
(3) Hotelling T? Distribution
(4) Multivariate Normal Distribution
(5) Question not attempted

00-4
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(5)
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é?n*s‘*
(nmﬁaﬂfrwwm _
(mmguﬁa%mﬁﬁmwaﬁwﬁ
@3) e ol @ ATH STEEY
(4) T S BT A
(5) argeiRd 7=

79. R o ¥ ve cafdd @ affe amF 200003 2
T A a§ # Se! e Mg 50000% B
Ife ST Hou Gadic 325 B, O 94 Afd

P FAE e WR xEy @ forg ol e
j}mﬂ'ﬁ_ﬁﬂ? % A1
15000 2 (2) 125003 " o.80%

(3) 140002 (4) 120003 572
(5) Gﬁ?lﬁﬁ A 5’D°'°

2 e ey < g S
ma@dﬁ?mg‘mﬁaﬁﬁ

Tszi'a‘q' o7 2
® TR ey
(5) TR e EGE|



¢ size 2 from
81. For a population size 6 and samplc S22 oot
a particular
there-in, the inclusion pmh.nhuluy ofap
nder ! g”nplc Rﬂndom

Munit(i=1,2,......6)0
Sampling With Replacement i§ - B 9 ).E:.
2 1 -
My LYCITY @75
-Q-E
25 e 1
33 = g

(5) Question not attempted

82. If N = nk be the size of the popu

is size of the sample and k be an integer constant,
the probability

ation, where n

then under systematic samplin
of qelectmg a sample is -

M ; (2)§

1 1
() ery @) v,
(5) Question not attempted

83. The consumer price index for April, 1985 was
125. The food index was 120 and 135 for other
items. The percentage of total weight given to

food is -
(1) 63.5% (2) 68%
(3) 67.25% (4) 66.61%

(5) Question not attempted

84. In the agricultural field experiments, the fertility
variation is obtained through the technique of -
(1) Method of moments (2) Replicagioy, -
(3) Randomisation (4) U“iformi[y irials
(5) Question not attempled

85. Stratified Random-Sampling fecommended to

use when strata are -
(1) Hetrogeneous between thep,
(2) Within homogeneous ayg

hetrogeneous between them
(3) Within as well as betweep homg o
(4) Within homogencous
(5) Question not attempted

'//’—/’——\
00- ¢

81. wm&mﬂﬂmﬁﬁmﬂm@w

uq&amqﬁmﬂnﬁwmma}mﬁm
i §BE (1= 1,2, e, 6) B YRS A AR
al aﬂmﬁmaﬁﬂ ~

U @

@)= @5

(5) s g%

82. fd N = nk U@ WA &7 amar @), wi g

Afiast BT AHR & T k 7 ot Reri &
mmmmawwm
D YT B MRET & —

(1).;
1
(©) el

(5) sl o

@ v

83. alier, 1985 ¥ UG T HABiG 125 o)

I B YESie 120 A1 T I TR B
ferg 135 o | wioH R =@ F fow g IR @
EIGK

(1) 63.5% (2) 68%
(3) 67.25% M 66.67%
(5) aFfeiRa e |
84. U5 P Pies T mm
D THND & —
() ameit Y fafy ./(z)/gmqﬁf
O) IEoPIERT  (4) yeEE T
(8) 3rgaRa e
85. wRa wsfes gfverm AR @ ST @
SUYRT B ] Sefh ww —
(1) TR R
@ IR ¥ o o wery R @
%ﬁwwmﬁuﬁ
W"ﬂﬁ‘\'ﬁwﬁ
() IR o
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g6. A and B are two independent events su

(4) Power of test < a.

(5) Question not atterpted
89. A continuous random variable X has a pdf
f(x) = 3x* 0 < x < 1, then find a and b such
that - Ta yh gy ¢ "
() PX<a)=P(X>2) [axas = (o
(ii) P(X >b)=0.05 4 )

1 ;g
O me @F @) ma QF 5

o .
i 1 z 1 ok 5 1\3 19 % 19 % ' %
o @ O@mE IPTEE o
(5) Question not attempted ) B
80, Mode and Skewness of x” distribution with n d.f. 90. Y24 FT Tgoi iR fawHEr n WA B
is -
ma-0.ff  @e-f E-a;‘:i  0e-n, X gy, 2r
W 1%, e n
. i o 2 b 3) (n—
oe-2.  @e-2f 00D uf-n, f
(5) Question not attempted I ' wﬁ ~n,
1 9 2/
00- ¢ x3l, = lat page19of32 2
o n 07)
N (,4,;)13 :,-Lm &-_) il
i ke A "blr

e T T TR P

2 1-

| o6

R AR

- '}\V
o LAl G\

el

657

P(®) = 0.7,P(B) = kand (A U B) " Nt 4 o B QTP fi 0 B%ﬁﬁ;k
] == — = ] — U = vu.0,
then k is - | 0.8, E(A) =0.7, P(B) k ( ) "
M1 5 - e g
(2) o ( 1 o 3 ‘ (2) :5_ .5\.\-1 )
2 7 ) 1 ‘ 7 ,\L\"Q s

3 & 2 L o
7 @3 ) 2 @z e¥T oav

(5) Question not attempted ) 7 . S V. o

87. The equation of the parabolic trend is - 3 _plt .
¥=466+24X-13X? . o mﬂﬂﬁ’rggﬁz?x 13 X2% e gt \‘”%
s . . ) Y — O+ - 4.

If the ongin is shifted backward by three years, IR dg @7 dF a9 90 B a'iqifgﬁa P fea

the equation of the parabolic trend will be - TR, d wadfie SR BT THIDRT BRI — »5’[

(1) Y=$1.1—-5-4X—-],3X2 1) {’:51.1—5.4:(—1.3 X2 e+t Q.'l_-\\\’ff?)“'":"u

(@ Y=277-54X_169 X2 (@ Y=277-54X- 169X\, ,qu—\:!@'ff“)

3 Y=27.7+102X-13 %%, CBYY=277+102X-13% AW

@ Y=277-54X=13X2 @) Y=277-54X-13X 2y

(5) Question not attempted (6) argaRa we ‘ L%

88. A test of a null hypothesis against an Alternative - 88. wa T IRGTT B TH

hypothesis, is said to be unbiased if - g et 3 5% g Dd BT STRIT?

(1) Power of test=a.” . () weron a% A =0 A _

(2) If probability that statistic will fall in critical @ 31 V@ & Fifiw &3 4 _frel =)
region is o (o = size of I kind error of !l/_a__'a”fll I_” o = i @ ==\
probability) ﬁ. Ffe &1 MHR ©) Wi & /2:’()/

(3) Power of test > o \_/m/’:'l"?TETUT ! A > o

(@) weror =) IR <ot (- &2

(5) Irgafa g '
89. g Helq A15fB® TR X P WG T Bl

fx) =3x450<x<1% T9a TA b I

DI —

(i) PX<a)=PX>a)
& (@ PX>b)=005

(3

p s 19

@ o ()




y b 1 ,e
+3¢ " g 8 . N7 8-
S L yerdtT It L g
’q -
& 91 . ’
9. For Poisson distribution - ' ’ . =
M =p=3=0 (2)B|_—ﬂ2"—‘l B2=Pi—=3=0 (Z)Bl—ﬁ2=l
Q) By =p» @) - Pi+1=0 (3) By =B @B, —pi+1=0

(5) Question not attempted

82. The appropriate measure whenever the extreme
items_are to be dlsregardcd and when _the
distribution contains indefinite classes at the end
is -
(1) Mean (2) Quartile deviation
(3) Standard deviation (4) Mode
(3) Question not attempted

93. Which of the following is not a division of
National Sample Survey Office (NSSO)?
(1) Industrial Statistics Division-
(2) Field Operation Division
(3) Survey Coordination Division
(4) Data Processing Division
(3) Question not attempted

94. At the centre, multipurpose socio-economic
surveys are mainly conducted by -
(1) NSSO
(2) National Informatics Centre

() CSO
(4) Indian Statistical Institute
(5) Question not attempted

95. Efficiency of RBD relative to CRD having
exactly the same number of experimental units tr
is, where t is no. of treatments and r no. of

replications -
f{t—1)MSB+t MSE
( (tr=1)MSE
(t—1)MSB+r(t-1)MSE
@) (tr-1)MSB
(t—1)(r—1)MSB+r MSE

(3’ MSE
(r—1)MSB+r(t—1)MSE
@) (tr-1)MSE

_(5) Question not attempted
96. 10 is the mean of 7 observations and 5 is the

1l

1'5 3) (t—=1)(r-1)MSB+r MSE
MSE
@ )(r 1)MSB+r(t—1)MSE
(tr-1)MSE

96. 7 Dervif BT Wy 10%am3javhmmw5%"l

(5) argaRa we
92. gy oxA HF B FHFA BV @S FA B
ok o dea @ A A o o @ @

9. B ¥ qg-IqedE wrforE-anfie_wder
k) FY T W § THRL P & -
AN NSSO
2) I G D=
(3 CSO
(4) I=ei [iRkegst i
(5) argeRa w

9. CRDﬂ%mH@ﬁmawﬂmﬁsm

A RN SPTE_r RN E, i
mmaﬂﬂ@rﬁmrm%aﬁmg_

f “:] t—1)MSB+t MSE
(tr—=1)MSE

) (t—1)MSB+r(t—1)MSE
(tr-1)MSB

(5) 3raRa we

mean of 3 observations. The mean of combined TR Sl 1 ey B -

qet is given by -

(1) 8.5 (2) 15 S5 @ 15

() 10 415 (3) 10 @) 1.5

(ﬁ) Question not attempled (5) 3/ gaRa W _

- -——"-"“_"'"“—_—_-_—_-ﬁ-_—_—__-_"""‘-—— . ’g_):
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97.

Let Xiy X,

NG, 0. o Xn be a random sample from
, O°), is

known, to obtain confidence

TR e T R

97. Hreg SARIT X1, XK2yeeeeees Xn o

N, 0?) A2 srafee o = 8, o1 frefoRaa 3

interval of © we can yse which of the follow;i ERKill @ wd A K7 faararfaen
as Pivot expression? . 9 % o # forar o 87
(1) /&9 (2) —(%-0) STl E Lay
mﬁ(iia) (4: {__“-12_5_ M yr&2 @ 'n‘_l(xs ' s
Limil X-0) ' ", =
n . n—-lT Jﬂﬁﬁ’.‘fl (4)\/n—1(la—)
(5) Question not attempted S

(5) argaiRa U¥

9. U'illlﬂg %ﬁnC;[?e of least squares, which curves  98. <ad a1 g &, fre A ™ ou A
will be litted for the given cases? R et 2
(1) A (Log y\) = constant @ (:Jm; -ﬂ? aﬁﬁ’/ '
(i1) A yitends to decrease by a constant 1) A (Log yi) = $
percentage- o (DAY IR i ¥ "es @Y wahT @
(1) Expf)n'entia} trend curve, parabola E oy (1) =R Ul 955, ARTErT
g; Iéoglsnc C_llIl'Ve, exponential trend curve % 2 SifSiRed 9%, TRUd ST 9%
e:g::::élz cuw?“d Garve; | “Hddilied (3) =RETi SufRY 9%, W TRETIE 95h
(4) Gompertz curve, m(}dlﬁed exponcntial curve (4) m ?I?ﬁ, R‘ﬁﬁ@ﬁ il'\’EI'RﬂTF CER
(5) Question not attempted ‘ (8) srgaRa o
. For a fixed effect linear model of one-way 99- e fiff=d wam  disel Rl GHSL &
classified data y;j= u + 7 + Gij: 1=1; 2.uunls Tftenvur v A gRT B
j=12,.....rand g~ iid N, ), the v(%}) Vi= R+ Ti+8i; 1=1,2nty =1, 25unT
is - , AR g~ iid N(0, 6.2 ¥(%)) g -
M =g, @ (t-1o’ . Mg @ (t—1) o2
&) =2 @) = 62 (3) =1 52 L= -
r t
(5) Question not attempted (5) srgaiRa ueA ' f:f’:,,’f
100. The properties of characteristic function are — 100. facteror s & o7 § — £
i y©O=1 M y©0) =1
(i) |P(t)] <1;forallt i) (Wl <1; 9t s ford
(iii) If y () is the characteristic function of X, IR y (1), X BT facerwr wem & §O,
W(t), complex conjugate of y (t), is the c.f. YO a1 ”Ii'a_r"m“g"l g ql(X) &
iehony D (i) T (i) T §
(1) Only (ii) and (iii) are true @ Boa i 911) AN
(2) Only (i) and (ii) are true : (f) TAT (i) I &
(3) Only (i) and (iii) are true @) Bl (i) T (jii) T
(4) All are true @ o Ty @
(5) Question not attempted () sriRe yoe
101. The test statistic for testing the significance of 191 HMRVTRY: wabg frgi o < p=0 B Frfwa
p = 0 with usual notations is - i & T ¥ ey whregior § —
ry(n-2) _ r}(1-r?) / r/in-2) -1l
= Yt= —= = 2) _ BO-1%)
(1t (1-r2) (2) (n-2) 3 ) ﬁ @t= (n-2)
_ r/(-r?) - ry(n-2) It = "m J(n-2)
@t = V(n=2) (Mt (1=1%) W -“('{:"2")" @Ht= r_(_i-_ri)_
(5) Question not attempted ©) SRNIG] L
7 _—_——__—-__‘___‘_\—\_______
00- ¢ Page 21 0f 32
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& 102 The class interval of the continuous grouped data

will be -

10- 19

20'-29

30 - 39

40 - 49

50 - 59
DR 2 10
(3 14.5 @) 4.5

() Question not attempted

103. Sum of absolute deviation about medial median is -
(1) greatest (2) infinite
(3) zero (4) least

(5) Question not attempted T

104. If a cluster sampling with N clusters, each of size
M and the size of the sample n is considered;
then its efficiency with respect to Simple
Random  Sampling Without - Replacement
Scheme with sample size nM is given by -
Where, S? denotes_the population mean square
and S§ denotes the mean square between cluster
mean in the population.

) S @5 -5
(Ms2)
st @ Ms? - 5
N i

(5) Question not attempted

105. A machine produces 10% defective items. 10 -
are selected at random. Find the

probability of not more than two items being

itemns

defective.

”?5)0()
o) ()

@ (3)(®)".
(3@

yE

Q.5 (¥ 9r-Y

o ¥
39
4"

102q§ﬁlgﬂgagssmﬁéfd?ﬁmqaﬂ‘éavﬁishn.ﬁ
10-19
20-29
30-39
n‘:-'g_i:: 40 - 49
 Jax 50-59
. M9 /610
(3) 14.5 (4) 4.5

(5) argaRa 99

103, apfoger o wer Fxder R & AT ELE-
(1) fpem (2) 3a
@) =™
(5) argaRd e

104. 7f MoaR @ N 201 arelt oo uioad iy
I n yfae @7 AR B, @ FHO! &AL WA
yfee @7 AMHR nM 8, & e 8l —
i, Styre wAfe @ WA @ BN T SY

o % T At S 4 e @ @ T
J‘{ (2) 52 —
(MSZ)
: (4) MS? —
(Ms ) of j‘

GogaRa e R - fo
105. v ¥l 10% w1 (Qwqel geprgdh) Searfed
Xl © | 10 SH1RAT BT IGRES w9 A AT

foar w4 ¥ el g sered]
Sced & Fa, 39 Wiiddr Tqrgd | |

A e

O2)"® 0@

(5) Question not attempted | - i
106. Th articular i of differential equation  106. i |
g(x —a) = 0 where a, b and g are IR T Y] + =2 (X a) = 0, Gﬁ‘f
d 2 a, b9 g ﬁm‘_—‘_l- a5 |
t different Bp'sltg@_gonstams is - 3 bk IR B | N ) @ & &
| oy N 'fl/dﬂﬁ D% @a 4
@k @0 s Lo
‘ g ﬁ d .,
@D (5) Question not attempted o . g
: °’ ‘ 2 (\RQ
00"’( Ji% O ; Page220f32
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107. Whtfh one of the following statement is correct? ~ 107. e ; j&nfa;&’, e 0T STE B & |
(1) Eyery scalar matrix is a diagonal matrix,& (1) geI® i FAT 81l 8|
(2 Matrix  multiplication = is*  always (2) Tﬂj:[ argE, TP e Mg Bl 2|
P rpd

}ommutaiive. ® m»&v“

_{3Every diagonal matrix is a scalar matrix. (4) gD af
“ (4) Every scalar matrix is an identity matrix. 2l
(5) Question not attempted e % 9 SR qﬁtﬁﬁa’\f ATge WU & —
108. The Fourier sine transform of e, a >0 is - 108, g-ax 5> 0P R > 2
(1) L 2 2 2 a2 A 2 _3_ &) T s2+a?
e S SN A
2 Sz 2 & Q’ 52 (4) -2— s d
3) |- " 4) |- — i (3) 2 __— Tt s2+a?
m s2+a? T s2+a? n s2+a’ :
(5) Question not attempted (& (5) Gﬁﬁﬁa 5
: & i, 50— X2+ Tx+9=0% Tl B —
109. The equation x* + 5x3— x?+ 7x + 9 = O has roots- 109 g 35— o
(1) at most two positive roots o - FferpaH a K
16 (2) a7fdddd i gD el

(2) at mostthree positiveroots  M_c, % 2 e
(3) at most three negative roots ' 0 v (3) arferddd A FUMcA® et
@  (4) sifmA TP FOMHD T

(4) at most one negative root
(5) Question not attempted (5) SR ¥

110. The table below gives values of a function f(x) ~ 110- S & T AR 0.25 B IR W X @ A
obtained for values of x at intervals of 0.25, the % forg wra@ ®waq f(x) @ #F <l &, R

value of the integral of the function f(x) between G) g BT ST B &Y oY 1P 91

the limits O to 1 using Simpson’s G) rule is - Held f(x) D GBS BT A & —
X ol 025 | 050075 ]| 1.0 X 0] 025 | 050 075 | 10 |
fx) | 1| 09412 | 0.8 | 0.64 | 0.50 fx) | 1 | 00412 | 0.8 | 0.64 | 050 |! \
(1) 2.3562 (207854 (1) 2.3562 2 oM LIE
S+ ' (2) 0.7854 ol §
(3) 7.5000 (4) 3.1416 6%'([ L (3) 7.5000 (4) 3.1416 -.‘a" A

(5) arpaRa yue oAt

|

(5) Question not attempted
U

. 2
111. ; _ 3 — ¢ 111. ' X - '?
1. 1f(x) = f(Q) + xF (0) + 5 f (6x) and AT f(x) = £(0) + xf (©0)+3; f(6x) 3R ‘\%
f(x)=(1- x)*?,thenthe valueofBasx — 1is- f(x) =(1-x)52 4 g
HE &
: o ) )2, Ar x > 1 AR ®T ‘
(1)~ )2 M5
A 5 : 4
(33 @3 ()3
(5) Question not attempted (5) iRy T
: L1 : 1
1 . : - o r g -
12. The inverse Laplace transform of ————1is 12 G O e
(1) -2t —2e72tgin3t « (1) o-2t
e—2t cos3t 23 sin3t i | €~ cos3t Ze"zt
(2) o-2tcos3t + 2e~2 sin3 = =2 9
e~ %*cos3t + e n3t (S +1) e tC033t+.2_e-2t sin3t
(3) g—2tcos3t + %e‘Z‘ sin3t sHFusEY 2 @) e~2g, \ ;
s 1
$304 se % sin3t

(4) e-—Zt cos3t — %e—zt Sin3l}'\ /],,- (4) -2t
N A > COSBt___;_ -

(5) Question not attempted

0. ¢
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113. Solution of the differential equation
dy o =0is-
)= (=1y=lis
(1) y =¢™ (C) logex + C2)
(2) y =logex (Cre* + C2) {
T

xE—-H(Za

() y =logex (Cie™ + C2
(@) y =¢*(C)logex + C2)
() Question not attempted

o § 3K

114. The system of linear equations x +y + z = 2,
2x +y —z = 3 and 3x + 2y + kz = 4 has a unique

(5) Question not attempted

115. Which of the following statement is not correc 9
(1) The closed half spaces H; = {x| cx > z} and
= {x | cx <z} are conyex sets.

(2) Intersection of two convex sets is also a
convex set, O

(3) Let A=
T are two non-empty disjoint convex sets,
then A is a convex set. :

(4) If S and T are any two convex sets in R", then
for all scalars o and B, the set oS + BT is not
convex.

(5) Question not attempted

/. 116. [f P,(x) is Legendre’s polynomial, then the value

I
§
}
%
-
=
q
L]
-}
H

ATRUSTRGT PO BN 1 ) TN

AR TN AN T LML

itk £

¥
@k"' ) %° y L i

solution, if - P
(1) k=0 | (2)-2<k<2(2;1 —\)
@) -1<k<] (@) k=0 s

{x1-x2 1 x1 € S,x2 € T}, where S and

é){ -Qf/

/

113. grqeher FHIDRT
x——(Zx 1) +(x—1)y 0 & & o—

(1) y =™ (Cilogex + C2)
(2) y = logex (C1€* + C2) “4

(I )
2 Jop WL (3) y = logex (Cre™ + Ca)
v_

y = e*(C1 logex + C2)

(5) argaiRa U
114.3Rgq GHBRON x +y + 2= 2,2x +y-z=33R
3x+2y+ke=4 B FrEE @ Ed dfedd E
afy —
(M k=0
(3 -1<k<l
 (5) IrgaRd
115. for 9 3 BT BT el TEL &7
(1)ﬂqﬁa{eiwﬁemfn—[xlcx>z]aﬁ?
Hz—[xlcx<z}31ﬂ‘ﬂ?§ﬂ“ﬂﬁl'ﬂéﬁﬁl
(2) < SgE YTl B WA A Th ATTH
| ey B B |
() HMT A= {xi-x2 | x1 €S, x2 € T}, T&l S 3R
T <1 IRew IIgad aqd e &, df A
U a9 HHwR B ¢ |
afe R H S SR T &1 Saqe "y €,
i few o 3R p& ford, F=aT oS + BT
g T g |
- (8) 3rgaia weA
"6-3fY Py(x) TWS 989T 2, A Pu(0) BT AN

(2) 2<k<2
k#0

é of P2a(0) is given by - T 3’!‘11 -~ ey
A 1.3.5....(2n+1) El 1 (1) ( )n 1.3.5...(2n+1) @ 91
"D 2.4.6..(2n) § M 2.4.6..(2n) \
f ! 1.35..(2n-1) (2)1&5:(31_—1_) =
i (2 —~26..zn) 24.6..(2n)
Ir 1.3.5...(2n-1) 1" 135..(2n-1) =
(3) (—'1)]1 2.4.6..(2n) -/(Gr( ) 2.4.6..(2n)
1.3.5...(2n+1) (4 )1__3‘_5___(1'1_*'_1_2
, (4) 2.4.6..(2n) 2.4.6...(2n)
r ~ (5) Question not attempted (5) areIRe o
i 417. The Laplace transform of Besscl function 1) 117 A B Jo() BT T Rk Gy g
| Ligy (11—
: (2) == \F‘— @2
M1~ W] \"5'2?1 N Ml +1 ) == v's_zﬁ
: @1+ B s VsZ41 @)1+ ——
(&) lyore] o W Vs2ri
(5) Question 1ot 211 (5) SrgeiRar wrew
age 24 of 32
00 - 4 Page




e B B 4 B A \"*-«ﬁ}ﬂf“nﬁ"'f ﬁ &?j ’

118 The height of the i
ittty B mscnbeY-}E_‘l?f_(_l).f maximum Volume
a sphere of radijusg *

a' IS-
“’J;a (a)f—zl
)=
( OE

(5) Question not attempted

18- One independent Solution of partial differential

equation :
YZP-I-qu:xy,(wherep——-q_ﬁ)ls'
Mx+y=c (2) x S dy.
B x*-y?=c @ x2+y2=¢ ‘

(5) Question not attempted

120. Which of the following is not a convex set’*.'.
M {(x,y) 1y <x?)
@ {(x, y) 13x%+2y2 < 6)
B) {(x, y) I ®+y? < 4)
@ {(x,y) 1 2x45y < T}
(5) Question not attempted

™! Value of the integral Jo fp 3 xdz dk dy'is -

PRl
P2

. - , : - mntpy
; ey . I
i ‘ i e "-“_.-,,-‘,i,'-.'.-"’ .

8 A

118, Roar ‘a’ @ J —
s 5
(273
1)fa ' 2a
e )7

@)

(5)3;§ﬁﬁﬂ "
P + ZXq =xy ®
119, gifdrp orad e AT Y y o U%

s az —

. gﬁé,(ﬁﬁp:&wq-—gy-) az
X4 X
(M x+y=c¢ e %’7?;5’\1

X = =

)
I(3));2—y2:=c M+y2=c )r;k/
(5) FrgaARa 5T

L (YR
(@) {(x, y) 1 3x*+2y" <6}

@) {(x,y) | x>+y> <4)
M, y) 1 2x+5y <7}
5 (8) SR W

TR _[01 J'ylz fol_xxdz dx dy &T A1 & —

mZ @ 3 xr:g' | \' " ,m)i @ 3
1 4 "* 4
®) = L e 1) = ) =
35 35 L4 5 —&g 35 35
(3) Question not attempted E’L %J'( (5) 3rgiRa we

12.The particular mtegral of the differential
equation (D? — 1)y = €2 * + 3 cos (4x + 3), where

122. grqeet T (D? — Dy =e* +3cos (4X+3)

- J_Cy';?‘o wiEt D= = @1 fiftre wrme § —
(1)§e2x+-13—cos (4x + 3) 'Ltlrjj)(.z (1)‘82" -—cos (4x + 3)
1 2x, 3 J-(s) hatt (2)—-—e2x+.§_ , ;

(2) € g2 5 €OS (4x + 3)1 o _QJM 2 77 €0s (4x + 3)
(3)-1-e2x—-i—cos (4x+3) o e 2t x“‘;‘;cos (4x+3)

1 2x_ 3 Le @—2ex_3
(4) —ceth——cns (4x+3) & 3 7 €0s (4x + 3)
(5) Questlon not attempted ) sl EEG

123,

of order n in argument x, then J5(x) is equal to,
where J¢ (%) is the first derivative of Jo(x) w.r.t

If I.(x) denotes the Bessel’s function of firstkind ~ 123. af J(x), Rx ¥ pug HT BT Jod q@@—m“

el % 31 ]0(){) G W‘M[ lﬂ(x)’ lﬂ(x)

X - Pl X B “TQIH — s
M- J2(x) (2) Ja(x) (1) Tafy \
; J2(x)
e @ ) @ Ji(x) e
(5) Question not attempted () IRy st =
“‘“"“-—l—_
“.e Page 25 of 32



125,

126.

127.

128.

129.

00 -

I

124,

() Question not attempted ~ o{a- S i'_.. oL

The solution to a transportation problem with m-
rows (supplies) and n-columns (destination) is
feasible, if the number of positive allocations
I.S -

(1) m+n+1 (2) mn
(3) m+n (4) m+n-1
(5) Question not attempted

If two roots of the equation 4x> + 20x% — 23x +

6 = 0 are equal, then roots of the equation are —

&_K@X) = X ® r 1)'3’3'( ;
\~/ v > WwA) ¥ \'é Ay 4
? e k‘y L k= Y > ueﬁ ;C've}\
: : g A d? d
Ify=xis one of the solution of differential 124"&% ¥ = X, sl N _._}_{id':)i’r__'-xﬁh
equauon X : )2’ _I_ d y 0 {hcn lhe QcCDnd y = D Gl @’E—ﬁ' ﬂBf- G_CIQ]EIS uli]a JEl:l Em
linearly mdcpendcm solution of the above EGRY %ﬁrq?ﬁ?f: w@d3 B & —
equation is - (1) (2) x"(ne N)
M 1 @ x (e N) = :
F 4
3 2 (@ 1 @ x* A
X
(5) Question not attempted ) e 4 2 2
1 -1 1 4 2 1 L Sl o w0
IfA=|2 1 _3], 10B =’—5 o| and f afd A= 1 -3, 10B= -—1 I g
1 1 1 1 -2 3 11
B is the inverse of matrix Mhen the value of B, A @I 6'3,’65!’__’7;__31@5 g, dl o w -
is - n’\: 0} @(1) 2 (2) 1
1 — | =t |
3) s @Wa O ST
L ) AT ¥

126. i —dfder (@gfel) T n—%l () & A
q&owmﬁa?fﬁ@n%—

127. 9% ieRoT 4x3+ 20x% - 23x + 6 =0 T oA
A B, d THIHR0 B A & —

11 1
1M2.2,6 (5664mwﬁxmﬁ” 25, 0.6
/ 1
(3)3.6,6 @)3.7,-6 (3)3,6,6 \/44)’3,%5,-6_
(5) Question not attempted (5) srgaRa wew

If f(2) = 4, f(2.5) = 5.5, then which one is the
linear interpolating polynomial using Newton’s
Divided Difference Interpolation formula?

(3) 3x (4) 3x.3
(5) Question not attempted
0o -h -
= [h ; j]’ then correct statement is -
Mgk ©
(1) Aisan orthogonal matrix 5 1
(2 A is an invertible matrix
(3) 1Al =

(4) Rank (A) =3
(5) Question not attempted

A

128. 713 f(2)=4, f(2.5)=5.5,ar e famfera R
I §F B TANL A SEET WE_araSe
9803 9Tl BhTTP -

\/ﬁﬁxa

(2) 3x-1
(3) 3x (4) 3x-3
(5) eI wee
0 =<h -
129, ¥ A=[h 0 —-q‘f‘ﬁ"ﬂﬁ_zﬁm%;
g f 0 T

M A v sifes smepg ¢ X
A ol a3 .
(3) 1Al = *"

0 v

ABBR 32
O ——
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@ gnvelope of the cyrye Y = mx + =, where m is a

130. 55 y = 2 =
Parameter is <%l k- & xz e
Mx=y (2) x2—4ay 3);‘:5’ ! -
Y

@x =Yy (4) y2= -
y?= 4ax 3 =
(5) Question not attempted :5; X

2 -
y - of -
gt The asymptotes of the cyrve x2 y2=x%y - xy?+ 131.qwm 2y =5 ™
\+Y+l—-0£ﬂ‘e- ! %l’ +y+]:0 jﬁv(iq':'f‘ E“?;a/
[1}\—-1 )'—Iandx+y+l_0 x=1|y;0&ﬁqx+y+ it ”qu\)’ 2
@x=0.y=0andx +y4+1=0 @x=05% ' _y=0 IR RNl
@ x+y=0andx - y=0 (3))(4‘}’:0 _0 =15 b ,)'/Q
(d)\-—O)\-ly Oandy_l (4)}(_07;,.1)” v, 7
(5) Question not attempted ) (5) " 2\1 :
B9 2 = ' 3 2 o BARS — ()
iSZTherank ofmatnxA= 1 5 6] is - 'ﬂ.i..@ 132'3]151\.3 A= ; 7 4 "l"\’,\
2~ ol ey 4 (2) 1
(13 @ 1 377 ™\ ms ¢ 2 " 2
@0 Wz . =g G?? ) @0
(5) Question not attempted (5) Wﬁﬁ _ 4x + 6x -1 = 0 ?5 71?'7
B a, B Y are the roots of the equation 133-afx FHHIT B + + 1
8 —4x2+6x— 1= O then equation having roots o B, Y © ar a+ B il
a+- B+,Y+ ‘18 - - WW%-
{1)4y __gyz_,_gy 3 0 0(('7’, ",J@ ! (1)4y3—-3y2+8y -3=0 -{rf?lﬂr‘-/.ﬁ
(2) 4y’ —8y? + 8y +3 =0 P L@ 4y - gy2+8y+3=0
(3) 4y* +8y*— 8y +3=0 EH‘) QL @) 4y3 +3y—83'+3 =0
4 4y +8y*~8y ~3=0 | L (ar4y’+8y*-8y-3=0 ‘5)
() Question not attenipted (5) SrgIRd WA L{ H :
. Solution of the following ﬁsﬁmpmblcm 134. f AT |1 &1 & T —
Is —
ﬂl A B C ' R i el |
9. 26 15 %
mjis 27 6 My WP
1m3s 20 112(5) v K O
vlis 30 s s B
. MA->TIV,B r
MASIV,B->ILC—-II @ \‘-1—- ” 2 A 1B 2L C =
@A B—oILC—II =IL,C— I
MASLB-IO,C—HI WU K q 4A""IB-HII C—TI
WA>SIV,B>LC—-1I ”A—”VB—%IC—HII
(5) Question not attempted (5) srFaRa wey
™. The radius of curvature of y? = 2xu(3!—xz___)__a_t_thF i y* =2 (3 x?) Y gl F‘omn Siil ﬁ’fﬁ”
; ts allel to x-ax IR, [
Points where the langents 2 P i ) R X—31eT B TR § — (=20
. = - ax (-
) @2 ; @37 - W
Mg, . 2 @1 : -
@3 L b (5) areiR @7
(%) Question not attempted w
» \
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“1., o.
136. v s ‘ .
Y = X is one of the solution of differential

equation (x2 + 1) d?y ZXE'X +2y =0, then
dx? dx

another linearly independent solution is -
2

®) y =nx @)y =2x
(5) Question not attempted

137. The value of cosx in terms of Bessel‘s function
of first kind is - :
(1) Jo(x)'= Ja(x) + Ja(x) —
(2) Jo(x) — 2J2(x) + 2Ja(x) —
(3) Jo(x) + 2T2(x) + 2Ja(x) +
(4) Jo(x) + Jo(x) + Ja(x) +
(5) Question not attempted

-------

. 138 The hypergeometric function 2R (., B;PB:x)

is equal to -
1 (1-x) @ 1+x

(3) (1-x)* @ 1+ x)®

(5) Question not attempted

139. If [x] denotes the 'greatest integer less than or

d%y
136.7R y = x, AP e (2 + D gz

2x L 42y =0 7 P & B, a1 qE WP
W@, B §
M) y=x>-1 @y=1x
(3) y=mx (4) y=2x
. (5) argaRd 9=
137-MW$WW$WW
3
(1) Jo(x) — J2(X) + Ja(®) = oo 1
" (2) Jo(x) — 2J2(x) + 2T4(X) = oeere K
(3) Jp(x) + 22(x) + 2J4(X) + covees
4 Jo(x) + Jo(x) + Ja(X) + oo
(5) argaiRd 9T
138. grgqeouAEi B oF1 (@ P £ 1 o] T

(2 (1 +x)
4 (1+x)*

ualtoxand—-l,;ﬁi_<9,0_5rb<1,lsc<2, ; < =
E+1 ] [ 7o, b2 N a1 [P [c]
"’OI ﬁi 1' en| [a] - I+1 [c is equal to - ~volay | [@} [bl+1 [c] | ® TR 7 -
4 @ ml A+t /to @ b [+l
-t (1) [a] (2) [b] & s (1) [a] (2 [b]
(@ 1<l @0 i @) [c]
(5) Question not attempted " (5) IrgaRA T
140. Which type of problems can be solved by using - 140- Ry Ay & g@T kil ﬁa‘;‘f TER_ P
Simplex Method? . ] ' -s;ﬁ
(1) Both assignment and transportation problems ,\/H‘)’ RESEECEY gREE AR
(2) Only transportation problems : @ P giRae FHEIT
(3) Only assignment problems (3) Baa FadT TN
(4) Linear programming problems (4) ‘\*ﬁﬂgﬁ PIpIGE IR RARIN
(5) Question not attempted ' (5) BRI
141. The Fourier transform of the function 1417 1+% 5
1+§ ;. —a<x<0 I b "f(') X .
- Had f(x) = a '
\ e
: f(x) = 1-3 DA ik ;
0 ; otherwise
| R TR € -
. as 1 .
it () @22etE) wm=int(3) @
5 v as? s
A 2(as " AR
Olsn(E) @2l 1&5 ) 7oz sin (3)
{5) . mas 20
b—-—______g‘_-'fftlon not attempted (5) (ﬂa—ﬁ'ﬁﬁ 94
0-4 O 43¢
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1"2 [n terms of Legend
2 + X is equal to
(1) Po+ Py + 2P2

'€ polynomials Po, P1 and p,

(2)1P0+P+‘p
1 1 2
3)—P+P+.2..

S Tl @)3P +2p,

. (5) Question not attempyed

#3 The series b Yk 1

2
- n2yq ¢
(2)x<1

@) x>1 @x<1 1%
(5) Question not attempted :

w0 AL
144. Lagrange’s lnterpolatlon formula can be used -
(1) only for equal interva]

(x> 0)is divergent, if -

(2) only for unequal interval

(3) for both equal and unequal intervals
(4) None of these

(5) Question not attempted

145.The value of £(1.22) from the following table
using Stirling’s Interpolation formula is -

X 30t 1.0 1.1 1.2 13 | 14
f(x) : | 0.841 | 0.891 | 0.932 | 0.963 | 0.985
(1) 0.938_9 (2) 0.9380 L

(3) 0.9492 (4) 0.9481

(5) Question not attempted
146.One of the solution. of - differential - equation

b
i

X+ yp -(1+Xy)PaWherep"_yiS'
(1) y2 -—:(—C"O o

e

2y- ; x2—c:=0

15 X
.,; J-" _,_’f;‘}‘ .ﬁ"f
RLCH IO

Wl LR

3
(5) gl 77
X

(x70)WM—'

M

143.M E;C!:O..I;;_El"p (Z)XSI J )
M x=1 4) x<1
(3)x>1 o)y
© orgeiRe 77 prefafad @ fory e
144, qrion g A e S A
£ - m?fzf‘»%m
(1) Daer T W$m ;
(Z)WW -
Sr QA SISl B fr
(4)531?%%‘@ b
(5) argaRRa W37
ﬁﬂe’ﬁwmﬁmﬁﬁﬁwmﬁﬁﬂ?
e & £(1.22) F1 T E
X : 1.0 1.1 1.2 13 |, 14
’%—0—_;‘/0.8:- 0.932 0963 | 0.985
(1) 0.9389 (2) 0.9380 :
(3) 0.9492 (4) 0.9481 |
(5) 3rgaIRa ge Vil . T
146. Jrgeret  HHIGRT X+yp —(l+xy)p, el
_—dx%,?!?r@?gﬁ%_. -

vy

My -x-c=0 (2)y-3?.12“‘*=0

(3) y2—x2+c=0 '(4)y'—x’{°m=]0'§:' O y*-x*+c=0  @y-x+c=0
(5) Question not a.[[empted - . ’ (5) SrgaiRe s o 0\»@))?’”
147, 1 dx Wil 147. f 1 dx FT :j?
Thevalu_eoffoﬁls‘ 011—1,‘ T 7 —
: Sl ¥ T T (U”"”
a > J}?-E— ) l{f‘; L ;"E"E‘ 2) --—I;
" e [+ B I
2 I Jr |T ; !
& (@) oVl 3)7"—(-*—2 .
a = 5) 3
. (3) argeife qeq b odx
(5) Question not attempted J ,,—-'-"“"' Y
1) (TS B
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¥
. t1
148. e solution of the differentlal equation 148 gy @RI y =4xp-16y°p?, (P ) €
_ _ %) is- F 8 -
y= T (v ,f:)) 32Cx-C? My=Cx-C —By=cx_c2
(;’ y?*=Cx-C? (4)5 s Cx—C? (3 y=Cx—C? @y'=cx-c2
()y=CX—C2 (S)Jﬂﬂﬁﬁw 'b';l_
(5) Question not allempted iy Py au " }‘5_,,
a = sin~ ek
149-Ifu=sin‘1(jj+j,) thenx u‘f‘y 149_3% u = sin (\J'_-I-J_) +y6y_
X +.J¥
2 )= tan u (2) cotu
2 tan u @gcott 2 ’jr'
: @5ty @Ztanu  © @3cotu
3 2
()5 tanu (5) argeRel ae sk
(5) Quesuon not attempted
150. The general solution of the I’ﬁ‘m"’1 differential 150 37fH  JawS  FAPTT (% ~ 2x') ) B
"equation (y’x - 2x) p * @y - ¥y) q = @y* - x 3y)q=9z (x> —¥*) Waum-cﬁga% =
9z (x*-y?) is - . s
), Y, X i
(1)f(xl+i2,x3y Z) 0 . (1)f(xz+yzrx y Z).— 0
(2)f(: xyz) o A (2)f(i+f- x3y3z3)=0!}k
X
(3)f———xyz) 0 (3)f(————xyz)—0
(4)f(: x3y3z3) 0(,( (4)f( 2,x y 23) = 00'\
(5 Questlon not attempted ) Qﬂﬁﬁﬁ RS
00- & i L - e
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